Reference: EXAM / SKJ / BITIC / PATNA / BE-EC-SEVENTH / (MO/20) / 2020-2021

By the order of Examination committee, the following is the result of BE-EC - SEVENTH Semester held in the month of NOV-2020

Date : JUNE-2021

SESSIO	N : 2020-2021 CL	LASS : BE-EC			BRAN	CH : EN	NGINEER	ING						SEMESTE	R / TRIME	STER : :	SEVENTH		1	MONTH OF EXA	M : NOV	-2020
		U	MSH	1103(3)	EC7	201(3)	EC7	202(2)	EC7	203(3)	EC7	206(4)	EC7	207(3)	MEC	1047(3)	MEC	2163(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L		203(4)		201(3)		205(3)		001(3)		207(3)		201(3)		201(4)		205(4)	POINTS	CREDITS	SGPA	REMARKS
	<u> </u>		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		<u> </u>		
BE/15008/17	KUMAR PRATIK	Ī	A B+	24.0	B+ B	21.0 18.0	A+	18.0	A	24.0	A	32.0	A+	27.0	A+	27.0	A+	27.0	246.0	31.0	7.94	-
		U	A	24.0	B+	21.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0		1		
BE/15016/17	AYUSH RAJ	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	210.0	24.0	8.75	-
BE/15032/17	SARTHAK KUMAR	U	A	24.0	A+	27.0	A+	18.0	A	24.0	Ex	40.0	A+	27.0	Ex	30.0	A	24.0	214.0	24.0	8.92	_
BE/13032/17	SARTIAK KUWAK	L	-	-	-	-		-	-	-	-	-	-	-	-	-	-	-	214.0	24.0	6.92	
BE/15045/17	AKANKSHA DEEP	U	A+	27.0	A+	27.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	219.0	24.0	9.12	_
	1	L	-	-	-	-	-	-		-		-		-	-	-	-	-				
BE/15072/17	SAMRIDHI LATA GOND	U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	216.0	24.0	9.00	-
		U	A	24.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A+	27.0	A+	27.0				
BE/15093/17	VIVEK MUSKAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	210.0	24.0	8.75	-
		U	A	24.0	А	24.0	A+	18.0	A+	27.0	А	32.0	A+	27.0	A+	27.0	А	24.0				
BE/15095/17	AYUSH RANJAN	L	<u> </u>	<u> </u>	-	-	A	24.0	-	-	-	-	-	-	-	-	-	-	227.0	27.0	8.41	-
BE/15098/17	ADITYA SHARMA	U	A+	27.0	Α	24.0	A+	18.0	A+	27.0	A+	36.0	A	24.0	A+	27.0	A+	27.0	210.0	24.0	8.75	
BE/15098/17	ADII YA SHARMA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	210.0	24.0	8.75	_
BE/15127/17	TARUN KUMAR	U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	Ex	30.0	A+	27.0	A+	27.0	216.0	24.0	9.00	_
		L	-	-				-	<u> </u>	-	<u> </u>	-	<u> </u>	-	-	-		-				
BE/15128/17	PRERNA SINHA	U	A+	27.0	A	24.0	A+	18.0	A	24.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	213.0	24.0	8.88	-
	<u> </u>	L L	A	24.0	B+	21.0	A+	18.0	Ex	30.0	- A	32.0	A+	27.0	Δ	24.0	A+	27.0		<u></u>		
BE/15136/17	SOMENDRA KUMAR	L	- A		-	-	- A	-	-	-	-	-	- A	-	-	-	-	-	203.0	24.0	8.46	-
		U	A+	27.0	A	24.0	Ex	20.0	A+	27.0	Ex	40.0	A+	27.0	Ex	30.0	A+	27.0		<u> </u>		
BE/15142/17	VIJAYA LAKSHMI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	222.0	24.0	9.25	-

MSH1103(3)	: BUSINESS ETHICS	EC4203(4)	: ANALOG COMMUNICATION SYSTEM
EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	EC5201(3)	: DIGITAL COMMUNICATION SYSTEM
EC7202(2)	: ADVANCED COMM. LAB	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
EC7203(3)	: ANTENNAS AND PROPAGATION FOR WIRELESS COMMUNICATION	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC7206(4)	: PROJECT	EC4207(3)	: ELECTROMAGNETIC THEORY
EC7207(3)	: SATELLITE COMMUNICATION SYSTEM	EC4201(3)	: VLSI DESIGN
MEC1047(3)	: SENSORS & TRANSDUCERS	MA1201(4)	: ENGINEERING MATHEMATICS
MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION	EE3205(4)	NETWORK THEORY

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / SKJ / BITIC / PATNA / BE-EC-SEVENTH / (MO/20) / 2020-2021

By the order of Examination committee, the following is the result of BE-EC - SEVENTH Semester held in the month of NOV-2020

Date : JUNE-2021

SESSIO	ON : 2020-2021 CLASS :	BE-EC			BRAN	CH : E	NGINEER	ING						SEMESTE	R / TRIME	STER :	SEVENTH		1	MONTH OF EXA	.M : NOV	-2020
		U	MSH	1103(3)	EC7	201(3)	EC7	202(2)	EC7	203(3)	EC7	206(4)	EC7	207(3)	MEC	1047(3)	MEC:	2163(3)				
ROLL NO	NAME	L	EC42	203(4)	EC5	201(3)	EC4	1205(3)	EC2	001(3)	EC4	207(3)	EC4	201(3)	MA1	201(4)	EE3	205(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15146/17	PRANAV ANNANT MISHRA	U	A	24.0	A	24.0	A+	18.0	A+	27.0	A	32.0	A+	27.0	A	24.0	A	24.0	227.0	27.0	8.41	_
BE/13140/17	I KATATA ARTATA MISHIOT	L	<u> </u>		-		-	-	A+	27.0	-	<u> </u>	-	-	-	-	-	-	227.0	27.0	0.41	
BE/15158/17	ABHISHEK KRISHNA	U	-	-	-	-	-	-		-		-	-	-	-	-	-	-	00.0	0.0	0.00	_
		L	-	-				-	-	-	-			-	-	-	-	-				
BE/15161/17	AKASH RAJ	U	A+	27.0	Ex	30.0	A+	18.0	A+	27.0	Ex	40.0	Ex	30.0	Ex	30.0	A+	27.0	229.0	24.0	9.54	_
		L	-	-		-		-	-	-	-	-	-	-	-	-	-	-			<u> </u>	
BE/15163/17	PRANEETA SHANKAR PRASAD	U	A+	27.0	A+	27.0	A+	18.0	Ex	30.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	222.0	24.0	9.25	-
	1	L	-	-	<u> </u>	-	-	- 10.0	-		-	-	-	- 27.0	-		<u> </u>	-				
BE/15169/17	RAHUL KUMAR	Ţ	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A+	27.0	A	24.0	210.0	24.0	8.75	-
		II	A	24.0	_	24.0	A+	18.0	A+	27.0	A	32.0	- A+	27.0	A+	27.0	A+	27.0			╢	
BE/15196/17	APOORV PRATEEK	ī	A	24.0	A	24.0	Α⊤	16.0	A ⁺	27.0	A	32.0	Α+	27.0	Α⊤	27.0	Α⊤	27.0	206.0	24.0	8.58	-
	1	11	A+	27.0	_	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	_	24.0	A+	27.0				
BE/15198/17	SNEHA PRAG		Α⊤	27.0	A	24.0	Α⊤	16.0	AT	27.0	AT	30.0		27.0	А	24.0	Α⊤	27.0	210.0	24.0	8.75	-
	-	L	- A	24.0	-	24.0	A+	18.0	A+	27.0	-	32.0	- A+	27.0	A+	27.0	-	24.0			-	
BE/15201/17	GULSHAN KUMAR	ī	A	24.0	A	24.0	Δ	24.0	A ⁺	27.0	A	15.0	Α+	27.0	Α⊤	27.0	_ A	24.0	242.0	30.0	8.07	-
	1	U	A+	27.0	Ex	30.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0				
BE/15205/17	FARAZ AHMAD	L	-	-	1	-	 	-	H	-	1	-	A	24.0	A	32.0	-	-	278.0	31.0	8.97	-
		U	А	24.0	B+	21.0	A	16.0	A	24.0	A	32.0	A+	27.0	A+	27.0	A	24.0		i i		
BE/15206/17	ANKIT PAL	L	-	<u> </u>	-	-	-	1 -	î -	-	 	-	-	-	-	-	-	-	195.0	24.0	8.12	-
DE // 5200//-	DANIEL CONTROL CONTROL	U	A	24.0	B+	21.0	A	16.0	A+	27.0	A	32.0	A	24.0	Ex	30.0	A	24.0	100.0	24.0	0.05	
BE/15208/17	RHITIK SRIVASTAVA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	198.0	24.0	8.25	-
BE/15210/17	DDINA CUMANI	U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A	24.0	212.0	24.0	0.00	
BE/15210/17	PRIYA SUMAN	L			-	-	-			-							<u> </u>		213.0	24.0	8.88	-

MSH1103(3)	: BUSINESS ETHICS	EC4203(4)	: ANALOG COMMUNICATION SYSTEM
EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	EC5201(3)	: DIGITAL COMMUNICATION SYSTEM
EC7202(2)	: ADVANCED COMM. LAB	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
EC7203(3)	: ANTENNAS AND PROPAGATION FOR WIRELESS COMMUNICATION	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC7206(4)	: PROJECT	EC4207(3)	: ELECTROMAGNETIC THEORY
EC7207(3)	: SATELLITE COMMUNICATION SYSTEM	EC4201(3)	: VLSI DESIGN
MEC1047(3)	: SENSORS & TRANSDUCERS	MA1201(4)	: ENGINEERING MATHEMATICS
MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION	EE3205(4)	NETWORK THEORY

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

Reference: EXAM / SKJ / BITIC / PATNA / BE-EC-SEVENTH / (MO/20) / 2020-2021

By the order of Examination committee, the following is the result of BE-EC - SEVENTH Semester held in the month of NOV-2020

Date : JUNE-2021

SESSIC	ON : 2020-2021 CLASS : B	E-EC			BRAN	CH : Eì	NGINEER	ING						SEMESTE	R / TRIME	STER :	SEVENTH		N	MONTH OF EXA	M : NOV	-2020
ROLL NO	NAME	U		1103(3)		201(3)		202(2)		203(3)		206(4)		207(3)		1047(3)		2163(3)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
ROLL NO	MANE	II L	GR.	203(4) PT.	GR.	201(3) PT.	GR.	205(3) PT.	GR.	001(3) PT.	GR.	207(3) PT.	GR.	201(3) PT.	GR.	201(4) PT.	GR.	205(4) PT.	POINTS	CREDITS	SGIA	KEMPRIKES
		U	A	24.0	B+	21.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A	24.0	A+	27.0			ï	
BE/15213/17	MD. MASROOR ALAM	L	-	-	i -	-	-	i -	i -	-	i -	-	-	-	-	-	B+	28.0	232.0	28.0	8.29	-
BE/15216/17	ANKIT KUMAR SINGH	U	A+	27.0	D	12.0	A+	18.0	С	15.0	D	16.0	D	12.0	A	24.0	В	18.0	142.0	24.0	5.92	
BE/13210/17	ANKII KUWAR SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-	-	142.0	24.0	3.92	_
BE/15220/17	SONAL PRASAD	U	A+	27.0	A	24.0	A+	18.0	A+	27.0	Ex	40.0	A+	27.0	A	24.0	A+	27.0	214.0	24.0	8.92	_
5513220717	56.4.12.14.16.15	L	-	-			-	-	-	-				-	-	-	-	-	211.0	2	0.52	
BE/15223/17	PRASHANT BHARTI	U	A	24.0	A	24.0	A+	18.0	A	24.0	A	32.0	A+	27.0	A	24.0	A+	27.0	245.0	30.0	8.17	-
		L	-	- 25.0	-	-	B+	21.0	A	24.0	-	-	-	-	-	- 20.0	-	- 27.0				
BE/15224/17	AKANKSHA MINI	Ţ	A+	27.0	A	24.0	A	16.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	214.0	24.0	8.92	-
		II	A	24.0	A	24.0	A	16.0	A+	27.0	A+	36.0	- A+	27.0	A+	27.0	A+	27.0			-	
BE/15227/17	RAJAT KUMAR	L	-	24.0	_ A	24.0	-	- 10.0	- A	-	Α.	- 30.0	A	-	- A		- A	-	208.0	24.0	8.67	-
		U	A+	27.0	B+	21.0	A+	18.0	A	24.0	A	32.0	A+	27.0	A	24.0	A+	27.0				
BE/15230/17	YASHVARDHAN SRIVASTAVA	I.				21.0		10.0	╬			32.0		27.0					200.0	24.0	8.33	-
		U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A	24.0	A+	27.0				
BE/15235/17	AKANKSHA CHOURASIYA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	210.0	24.0	8.75	-
DE 11 500 6/15		U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	2160	24.0	0.00	
BE/15236/17	SHASHI BHUSHAN RAJ	L	-		-	-	-	-	-	-	i -	-	-	-	-	-	-	-	216.0	24.0	9.00	-
BE/15242/17	ADITYA KUMAR	U	-		-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	0.0	0.00	
DE 172741/	TOTAL TRECOVERY	L				-	-			-				-	-	-	-	-	00.0	0.0	0.00	
BE/15244/17	SHEETAL KUMARI	U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A	24.0	A+	27.0	210.0	24.0	8.75	
		L	<u> </u>		<u> </u>		-	<u> </u>	-	-	<u> -</u>	<u> </u>		-	-	-	-	-				-
BE/15245/17	PRAKHAR DAYAL	U	A	24.0	A+	27.0	Ex	20.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	218.0	24.0	9.08	-
		L	<u> </u>		-	-	-	-	-	-		<u> </u>	-	-	-	-	-	-				1

MSH1103(3)	: BUSINESS ETHICS	EC4203(4)	: ANALOG COMMUNICATION SYSTEM
EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	EC5201(3)	: DIGITAL COMMUNICATION SYSTEM
EC7202(2)	: ADVANCED COMM. LAB	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
EC7203(3)	: ANTENNAS AND PROPAGATION FOR WIRELESS COMMUNICATION	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC7206(4)	: PROJECT	EC4207(3)	: ELECTROMAGNETIC THEORY
EC7207(3)	: SATELLITE COMMUNICATION SYSTEM	EC4201(3)	: VLSI DESIGN
MEC1047(3)	: SENSORS & TRANSDUCERS	MA1201(4)	: ENGINEERING MATHEMATICS
MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION	EE3205(4)	NETWORK THEORY

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

Reference: EXAM / SKJ / BITIC / PATNA / BE-EC-SEVENTH / (MO/20) / 2020-2021

By the order of Examination committee, the following is the result of BE-EC - SEVENTH Semester held in the month of NOV-2020

Date : JUNE-2021

SESSIC	ON : 2020-2021	CLASS : BI	E-EC			BRAN	CH : E	NGINEER	ING						SEMESTE	R / TRIME	STER : :	SEVENTH		1	MONTH OF EXA	M : NOV	-2020
			U	MSH	1103(3)	EC7	201(3)	EC7	202(2)	EC7	203(3)	EC7	206(4)	EC7	207(3)	MEC	1047(3)	MEC	2163(3)				
ROLL NO	NAME		L	EC42	203(4)	EC5	201(3)	EC4	1205(3)	EC2	001(3)	EC4	207(3)	EC4	201(3)	MA1	201(4)	EE3:	205(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15254/17	ANANDITA SINGH		U	A+	27.0	A+	27.0	Ex	20.0	A+	27.0	A+	36.0	A+	27.0	A	24.0	A+	27.0	215.0	24.0	8.96	_
BE/13234/17	ANANDIIA SINGII		L	-	-	-]	-		-	-				-	-	-	-	-	213.0	24.0	8.50	
BE/15255/17	SHANTANU KUMAR		U	Ex	30.0	Ex	30.0	Ex	20.0	A+	27.0	A+	36.0	Ex	30.0	Ex	30.0	A+	27.0	230.0	24.0	9.58	_
BE/10233/17			L	-	-	-		-		-	-		-	-	-	-	-	-	-	250.0	20	7.50	
BE/15256/17	PINAKSH KUMAR JHA		U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	32.0	A+	27.0	A	24.0	A+	27.0	268.0	31.0	8.65	_
			L	-	-			-	-	Ex	30.0	-		-	-	A	32.0	-	-				
BE/15257/17	RAJ RITU KESHRI		U	Ex	30.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	219.0	24.0	9.12	-
			L	-	-		-	-		-	-		-	-	-	-	-	-	-			<u> </u>	
BE/15260/17	MRINAL KAUSHIK		U		-		<u> </u>	-	-	-		-	-	<u> </u>		-		-	-	00.0	0.0	0.00	-
			L			-	- 21.0		-	-		<u> </u>	- 22.0	-	- 27.0	-	24.0	-	- 27.0			 	
BE/15263/17	S N SURABHI		T	A+	27.0	B+	21.0	A+	18.0	A	24.0	A	32.0	A+	27.0	A	24.0	A+	27.0	200.0	24.0	8.33	-
			L		27.0		21.0	<u> </u>	10.0	-	27.0	H	22.0		240			-	24.0			╢	
BE/15270/17	MAYANK MANI		U	A+	27.0	B+	21.0	A+	18.0	A+	27.0	A	32.0	A	24.0	A+	27.0	A	24.0	248.0	30.0	8.27	-
			L			-	- 24.0	B+	21.0	A+	27.0	-	-	-	- 27.0	-	-	-	- 27.0			 	
BE/15278/17	SHIVANI KUMARI		T	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	Ex	30.0	A+	27.0	216.0	24.0	9.00	-
	1		L	- A	24.0	B+	21.0	A+	18.0	A+	27.0	A	32.0	- A+	27.0	_	24.0	A+	27.0			-	
BE/15282/17	AMAN KUMAR		ī	А	24.0	Вт	21.0	B+	21.0	Α⊤	27.0	A	32.0	Α+	27.0	A	24.0	ΑT	27.0	221.0	27.0	8.19	-
			II	A	24.0	B+	21.0	A+	18.0	A	24.0	A	32.0	A+	27.0	A+	27.0	A	24.0				
BE/15285/17	SNEHASISH SANDILYA		L	- 1	-	-	-	A	24.0	A+	27.0	-	-	-	-	-	-	-	-	248.0	30.0	8.27	-
			U	A+	27.0	B+	21.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A	24.0	A	24.0		i 	i	
BE/15289/17	MD ASHIQUE IBRAHIMI		L	B+	28.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	232.0	28.0	8.29	-
			U	A	24.0	B+	21.0	A+	18.0	A	24.0	A	32.0	A+	27.0	A+	27.0	A+	27.0		İ	i	
BE/15317/17	NITISH KUMAR		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	200.0	24.0	8.33	-

MSH1103(3)	: BUSINESS ETHICS	EC4203(4)	: ANALOG COMMUNICATION SYSTEM
EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	EC5201(3)	: DIGITAL COMMUNICATION SYSTEM
EC7202(2)	: ADVANCED COMM. LAB	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
EC7203(3)	: ANTENNAS AND PROPAGATION FOR WIRELESS COMMUNICATION	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC7206(4)	: PROJECT	EC4207(3)	: ELECTROMAGNETIC THEORY
EC7207(3)	: SATELLITE COMMUNICATION SYSTEM	EC4201(3)	: VLSI DESIGN
MEC1047(3)	: SENSORS & TRANSDUCERS	MA1201(4)	: ENGINEERING MATHEMATICS
MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION	EE3205(4)	NETWORK THEORY

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

Disclaimer

Reference: EXAM / SKJ / BITIC / PATNA / BE-EC-SEVENTH / (MO/20) / 2020-2021

By the order of Examination committee, the following is the result of BE-EC - SEVENTH Semester held in the month of NOV-2020

Date : JUNE-2021

SESSIO	N : 2020-2021	CLASS : BE-E	EC			BRAN	CH : EN	NGINEER	ING						SEMESTE	R / TRIME	STER : S	SEVENTH		1	MONTH OF EXA	M : NOV	/-2020
ROLL NO	NAME		U L	MSH1 EE32	` ′		201(3) 205(3)		202(2) 201(4)		203(3) 001(3)		206(4) 203(3)		207(3) 205(3)		1047(3) 401(3)		2163(3) 201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15225/17	PRASHANT KUMAR	[[U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	32.0	Ex	30.0	A+	27.0	A+	27.0	261.0	31.0	8.42	
BE/13223/17	I KASHAWI KUMAK		L	B+	28.0	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	201.0	31.0	0.42	
BE/15248/17	NISHANT RAJ		U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	32.0	A+	27.0	A+	27.0	A+	27.0	272.0	31.0	8.77	
BE/13246/17	INISHANI KAJ		L	-]	-	-	-	A+	36.0	A+	27.0	-	-		-	-	-	-	-	272.0	31.0	0.77	_
BE/15269/17	RITU RAJ		U	A	24.0	B+	21.0	A+	18.0	A+	27.0	A	32.0	B+	21.0	A	24.0	A+	27.0	230.0	30.0	7.67	
BE/13209/17	RITU RAJ		L	- [-	-	-	-		-	-	D	12.0	A	24.0	-	-	-	-	230.0	30.0	7.67	-
BE/15279/17	KRITIKA KUMARI		U	A+	27.0	A	24.0	A+	18.0	A+	27.0	A+	36.0	A+	27.0	A+	27.0	A+	27.0	270.0	31.0	8.71	
BE/132/9/1/	KRITIKA KUMARI		L	-	-	-	-	-	-	-	-	-	-	-	-	B+	21.0	A+	36.0	270.0	31.0	8.71	-

MSH1103(3)	: BUSINESS ETHICS	EE3205(4)	: NETWORK THEORY
EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	EC3205(3)	: SEMICONDUCTOR DEVICES
EC7202(2)	: ADVANCED COMM. LAB	EC3201(4)	: DIGITAL ELECTRONICS
EC7203(3)	: ANTENNAS AND PROPAGATION FOR WIRELESS COMMUNICATION	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC7206(4)	: PROJECT	EC5203(3)	: MICROWAVE ENGINEERING
EC7207(3)	: SATELLITE COMMUNICATION SYSTEM	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
MEC1047(3)	: SENSORS & TRANSDUCERS	CH1401(3)	: ENGINEERING CHEMISTRY
MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION	AM1201(4)	ENGINEERING MECHANICS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / SKJ / BITIC / PATNA / BE-EC-SEVENTH / (MO/20) / 2020-2021

By the order of Examination committee , the following is the result of BE-EC - SEVENTH Semester held in the month of NOV-2020

Date : JUNE-2021

SESSIC	N : 2020-2021	CLASS : BE-EC			BRANG	CH : EN	GINEERI	NG					9	SEMESTE	R / TRIME	STER : S	EVENTH		N	MONTH OF EXA	M : NOV	-2020
		U	MSF	H1103(3)	EC7	201(3)	EC7	202(2)	EC7	203(3)	EC7	206(4)	EC7	207(3)	MEC	1047(3)	MEC	2163(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	MA	2201(4)	MA1	201(4)	EC3	201(4)	EC2	001(3)		203(3)		205(3)	CH1	401(3)	AM1	201(4)	POINTS	CREDITS	SGPA	REMARKS
	<u> </u>		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15281/17	VIVEK KUMAR	U	A+	27.0	A	24.0	A	16.0	A	24.0	A+	36.0	A+	27.0	A+	27.0	A	24.0	265.0	32.0	8.28	
BE/13281/17	VIVER KOWAK	L	B+	28.0	A	32.0	-	-	-	-	-		-	-	-	-		-	203.0	32.0	0.20	_

MSH1103(3)	: BUSINESS ETHICS	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
EC7201(3)	: MOBILE AND CELLULAR COMMUNICATION	MA1201(4)	: ENGINEERING MATHEMATICS
EC7202(2)	: ADVANCED COMM. LAB	EC3201(4)	: DIGITAL ELECTRONICS
EC7203(3)	: ANTENNAS AND PROPAGATION FOR WIRELESS COMMUNICATION	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC7206(4)	: PROJECT	EC5203(3)	: MICROWAVE ENGINEERING
EC7207(3)	: SATELLITE COMMUNICATION SYSTEM	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
MEC1047(3)	: SENSORS & TRANSDUCERS	CH1401(3)	: ENGINEERING CHEMISTRY
MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION	AM1201(4)	ENGINEERING MECHANICS

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.